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Algebra IT Name
Change the linear equations below to slope intercept form. —/
Solve for v.
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Mixed Review on Linear Equations

1) What is the equation of a line with a slope of 3 that goes through the point (2,8)?
Y-8 = B(x-a) Y-9:=3%x-0b

2) What is the equation of a line through the point (1,3) that has a slope of -2?
Y=D= -a-1) g -3=-das

3) What is the equation of a line through the point (-2, 3) that has a slope of 4?

J ~3=4(¥%X--2) 4-5 24X ilgl
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4) What is the equation of a line through the point (1,3) that has a slope of -2?
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5) What is an equation for the line that passes through the coordinates (4,5) and (8, 3)?
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6) What is an equation for the line that passes through the coordinates (-1,2) and {7,6) ?
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7) Find the equation of the line that passes through the points (1,1) and (3,5)?
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Practice:

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

1) Slope = %. y-intercept = 0

=2 X = X+ )
=3 Y
3) Slope=- ; y-intercept =3 4) Slope=-1, y-intercept=-2
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2) Slope=1, y-intercept=1
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Write the slope-intercept form of the equation of each line.
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